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Evaluate the effectiveness of market-based solutions to economic development.
There is a variety of aspects to market-based solutions — privatisation / deregulation, a

reduction in interventionist fiscal policy, and freer trade / reduced protectionism are key.

Privatisation is the transfer of a business, industry, or service fram public to private
ownership. Following privatisation, the new company should now be exposed to tougher
competition — provided, of course, that barriers to entry are low enough that new
“challenger” firms can also enter. This is why privatisation needs to be coupled with
deregulation to ensure that the former is effective. When firms are faced with competition,
economic theory tells us that they will gradually become more productively and dynamically
efficient. Productive efficiency has the benefit that prices should come down, thereby
improving living standards domestically (as people’s real purchasing power increases) and
also exports become more price competitive. When dynamic efficiency increases, the wider
economy benefits because firms are constantly pushing the boundaries of what is possible.
Itis logical to assume that unit costs of production will fall as firms discover new production
methods and the LRAS shifts outwards because supply capacity increases. Once again, this

should lead to an increase in living standards over time.

Privatisation also means that the Government no longer has to support a (potentially) loss-
making industry. In a developing country, this is especially important because the State has
limited funds anyway and can ill afford to waste money on loss-making enterprises. What's
more, any revenue made from the sale of the company can be used towards improving the
living standards of the general population from new hospitals and schools. Finally,
privatisation should also lead to a greater level of investment. The Government may well
have had limited funds with which to expand the nationalised industry but private
investment (especially from overseas) may be able to expand the company and achieve

economies of scale — which would serve to decrease average costs and prices further.
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A key problem with privatisation is that it often leads to job losses. Private investors, keen
to minimise costs, will try to improve productivity by getting less people to do more. Job
losses in a developing country are a particular concern since most people are already on low
incomes and any further decrease may push them into poverty (relative or absolute). In
addition, the process of privatisation is often fraught with corruption. State-owned
companies are sold off by rich public-sector workers to friends/family or even as a result of
a bribe. In any case, the new company may not find itself in a competitive market structure
at all but a monopoly. Private monopolies do not have to accept market prices but rather
they are price setters and therefore do not have to worry about productive efficiency gains
or reinvesting profits. The country may end up with a worse situation than before — this is
especially likely if there is minimal regulation, and this may be too costly in the long-run for

a developing country.

Tight fiscal policy is also a free-market policy that works in the same way. The Government

will lower subsidies so that firms are less protected from market forces. As such, the
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discipline of competition pushes them to become more productively and dynamically
efficient — and less X-inefficient. Similarly, if the Government reduces taxes, investment
should increase. A reduction in corporation tax means that firms can retain more of their
gross profit, whereas a reduction in income tax should lead to a multiplier and an accelerator
effect whereby firms (incentivised by the extra spending in the economy) will invest more

to exploit the potential gains to be made.

Sadly, such austerity rarely ends in a stimulus at all. A decrease in government spending
often has a negative impact on living standards. The costs of goods and services are likely
to rise as firms come to grips with decreasing subsidies and the standard of public service
provision from the Government deteriorates too - in developing countries, this may already
be low. Reductions in welfare spending (where they even existed) to create an incentive to
work can push low-income households into further extreme poverty. And investment
certainly will not follow if the Government is not seen to be backing firms, depressing
consumption and reducing its expenditure on critical infrastructure. Publicly financed
infrastructure in telecoms, energy, health and transport allows firms to reduce costs of
production and without it (or without its constant upgrade) firms will see rising costs and
may not choose to invest in the first place. Ultimately, whether freer-market policies work

as a policy depends on what type of government spending is cut — current or capital.

Thirdly, another market-based policy is free trade and the dismantling of protectionist trade
barriers. The idea, again, is that this promotes competition in all markets — this time from
abroad. Competition is beneficial since it drives down prices and promotes efficiency.
Often, in developing countries, businesses receive protection from the government. As a
result, local industries risk becoming stagnant and non-competitive on the global market.
When the protection is removed, they have the motivation to become a true global
competitor. Domestic consumers benefit since they will see lower prices, higher quality,

more choice and greater consumer surplus — in other words, improved consumer welfare.
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Advanced countries, however, are at an advantage here though. It s likely that many firms
are mature and have grown in scale such that they are achieving internal and external
economies of scale. As a result, they may well be operating at the minimum point of the
long run average cost curve, or the minimum efficient scale (MES). Firms such as these will
find it easy to dislodge smaller infant industries in developing countries which have yet to
achieve economies of scale and therefore cannot compete with the lower prices. It follows
that the firms in developing countries may close and their places taken by foreign firms
moving in. This is known as ‘dumping’ — where foreign firms undercut the domestic

producers by pricing below cost such that they end up closing. This will harm development.

In conclusion, a market-based approach is probably best for newly industrialising economies
rather than the least developed countries; the reason being that the country in question
needs to have attained some level of development — such as the existence of good
infrastructure, mature markets (where nationalised industries have already been privatised)

and the people are not desperately poor.




